

Euler numbers , Catalan's constant , Number Pi

Edgar Valdebenito

05/08/2019 11:03:28

abstract

We give some formulas involving Catalan's constant $G = 0.915965\dots$.

1. Introduction

1.1. The number Pi is defined by

$$\pi = 4 \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} = 3.141592\dots \quad (1)$$

1.2. The Catalan's constant is defined by

$$G = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)^2} = 0.915965\dots \quad (2)$$

1.3. Euler numbers are defined by

$$\frac{1}{\cosh x} = \sum_{n=0}^{\infty} \frac{(-1)^n E_n x^{2n}}{(2n)!} \quad , |x| < \pi / 2 \quad (3)$$

$$\{E_n : n \geq 0\} = \{1, 1, 5, 61, 1385, 50521, 2702785, \dots\} \quad (4)$$

$$E_0 = 1, \quad E_n = (-1)^n \sum_{k=1}^n \left(\frac{1}{2}\right)^{k-1} \sum_{m=1}^k (-1)^m \binom{2k}{k-m} m^{2n}, n \geq 1 \quad (5)$$

$$E_n = 2^{2n+1} \int_0^{\infty} x^{2n} \operatorname{sech}(\pi x) dx \quad , n \geq 0 \quad (6)$$

2. Formula

2.1. If $e^{-\pi/2} < x \leq 1$, then

$$4G + \pi \ln x = 4 \sum_{n=0}^{\infty} \frac{(-1)^n x^{2n+1}}{(2n+1)^2} - 2 \sum_{n=0}^{\infty} \frac{(-1)^n E_n (\ln x)^{2n+2}}{(2n+2)!} \quad (7)$$

2.2. Examples

$$4G - \pi \ln 2 = 4 \sum_{n=0}^{\infty} \frac{(-1)^n 2^{-2n-1}}{(2n+1)^2} - 2 \sum_{n=0}^{\infty} \frac{(-1)^n E_n (\ln 2)^{2n+2}}{(2n+2)!} \quad (8)$$

$$4G + \pi = 4 \sum_{n=0}^{\infty} \frac{(-1)^n e^{-2n-1}}{(2n+1)^2} - 2 \sum_{n=0}^{\infty} \frac{(-1)^n E_n}{(2n+2)!} \quad (9)$$

$$8G - \pi = 8e^{-1/2} \sum_{n=0}^{\infty} \frac{(-1)^n e^{-n}}{(2n+1)^2} - \sum_{n=0}^{\infty} \frac{(-1)^n E_n 2^{-2n}}{(2n+2)!} \quad (10)$$

$$4G - \frac{\pi}{2} = 4 \sum_{n=0}^{\infty} \frac{(-1)^n e^{-(2n+1)/2}}{(2n+1)^2} \cos\left(\frac{2n+1}{2}\right) - \sum_{n=0}^{\infty} \frac{(-1)^n E_n 2^{-n} \operatorname{Re}(i^{n+1})}{(2n+2)!} \quad (11)$$

$$\frac{\pi}{2} = 4 \sum_{n=0}^{\infty} \frac{(-1)^n e^{-(2n+1)/2}}{(2n+1)^2} \sin\left(\frac{2n+1}{2}\right) + \sum_{n=0}^{\infty} \frac{(-1)^n E_n 2^{-n} \operatorname{Im}(i^{n+1})}{(2n+2)!} \quad (12)$$

$$4G - \pi \ln 2 = 2 \sum_{n=0}^{\infty} \frac{(-1)^n 2^{-2n}}{(2n+1)^2} \cos\left(\frac{(2n+1)\pi}{4}\right) - 2 \sum_{n=0}^{\infty} \frac{(-1)^n E_n}{(2n+2)!} \operatorname{Re}\left(\left(-\ln 2 + i \frac{\pi}{4}\right)^{2n+2}\right) \quad (13)$$

$$\frac{\pi^2}{4} = 2 \sum_{n=0}^{\infty} \frac{(-1)^n 2^{-2n}}{(2n+1)^2} \sin\left(\frac{(2n+1)\pi}{4}\right) - 2 \sum_{n=0}^{\infty} \frac{(-1)^n E_n}{(2n+2)!} \operatorname{Im}\left(\left(-\ln 2 + i \frac{\pi}{4}\right)^{2n+2}\right) \quad (14)$$

Remark: $i = \sqrt{-1}$, $\operatorname{Re}(z)$, $\operatorname{Im}(z)$ are the real and imaginary part of complex z .

References

1. Gradshteyn, I.S., and Ryzhik, I.M.: Table of Integrals, Series and Products. 7th ed. Edited by Alan Jeffrey and Daniel Zwillinger. Academic Press, 2007.
2. Olver, F.W.J., et al. : NIST Handbook of Mathematical Functions. Cambridge University Press, 2010.
3. Ramanujan, S.: Collected Papers, Chelsea, New York, 1962.